N = 217 N = 218 N = 219

217 circles in a senicircle 218 circles in a senicircle 219 circles in a semcircle

radius =  0.044104656298  density = 0.844225786891 [ fgwr: radius = 0.044040449150  density = 0.845648666333
ratio = 2267332997030  contacts = 496 E ratio = 22.706398760810  contacts = 501

radius = 0.043960522488  density = 0.846447061388
ratio = 22.747682315965 contacts = 500

N = 220 N = 221 N = 222

220 circles in a senicircle 221 circles in a senicircle 222 circles in a senicircle

radius = 0043873558198  density = 0.846951207955
ratio = 22.792771798394  contacts = 473

radius = 0043786214316  density = 0.847416793345 radius = 0. density = 0.
ratio = 22.838238372981  contacts = 425 ratio = 2289596187333  contacts = 440

2o

N = 223 N = 224 N = 225

223 circles in a semcircle 224 circles in a semcircle 225 circles in a semicircle

radi us

0043590637025  density = 0.847464061772
ratio 527

22.940706267321  contacts =

radius =  0.043491195240  density = 0.847384860413 [ fgwrs radius =  0.043422671977  density = 0.848487798732
ratio = 22 993159752840  contacts = 515 Eec ratio = 23.029444169824  contacts = 523

N = 226 N = 227 N = 228

226 circles in a senicircle 227 circles in a senicircle 228 circles in a semcircle

radius = 0.043297949555  density = 0.847370020932
ratio = 23.095781908191  contacts = 507

radius = 0043178999947  density = 0.846449420526
ratio = 23.159406221395  contacts = 538

radius = 0043121154539  density = 0.847901889745
ratio = 23.190473694429  contacts = 514

N = 229 N = 230 N = 231

229 circles in a semcircle 230 circles in a semcircle 231 circles in a semicircle

radius = 0.043023577180  density = 0.847770912568 [ Egms radius =
8. pator

0.042978286378  density = 0.849681225984 e radius = 0.042853638752  density = 0.848432671678
ratio = 23.243069626958 contacts = 484 ratio 3 54! ox e i 3:

267563327483  contacts = 545 ratio = 23.335241279950 contacts = 533

N = 233 N = 234

234 circles in a senicircle

radius = 0042795962402  density = 0.849813400619
ratio = 23.366690310972  contacts = 553

radius = 0042575012883  density = 0.848311645899
ratio = 23.487955311785 contacts = 523

radius = 0042668510795 density = 0848400445074
ratio = 23.436487033826  contacts = 536




